Function Definitionsﬂ

Equivalent resistance ,

Line current:

two parallel resistances: R

TP

r
A
Balanced delta to wye conversion: Rﬂy[rﬂ]::f;
Balanced wye to delta conversion: RYA{ry]::3-rY
Variable Definitions:
Heating element R:=10Q
resistance
Nominal system V. =208V
voltage
Calculations:
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Wye, single p i=3. 2
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heating elements 5 2R
Delta with internal wye Py
(convert internal wye
to delta equivalent;
eq. is in parallel with
original delta)
Wye with internal delta
YA

(convert internal delta
to wye equivalent;

eqg. 1is in series with
original wye)
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